
ASSEMBLY MANUAL 

Record serial number

Elite Solaris Spin Bike



2

3

4

7

13

14

18

21
22

23

Elite Solaris Spin Bike.

Elite Solaris  
Spin Bike.

SERVICE & WARRANTY

Elite Fitness HQ

CONTENTS

Parts List 5

Assembly Complete

19

24

25



3ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

READ ALL INSTRUCTIONS BEFORE USING THE MACHINE

CONSULT A PHYSICIAN IMMEDIATELY.

IMPORTANT SAFETY INSTRUCTIONS



4

PRODUCT SPECIFICATIONS

120 KGS.

120 KG

52 KG

45 KG



5ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

PARTS LIST

NO. DESCRIPTION SPECS. QTY NO. DESCRIPTION SPECS. QTY 

1 Main Frame   1 57 Left pedal   1 

2 Front foot tube   1 58 Right pedal   1 

3 Rear foot tube   1 59 Belt pulley   1 

4 Handle adjustment   1 60 Moving wheel   2 

5 
Seat cushion adjustment 

 
 1 61 Adjustable foot pad   5 

6 Handle bar   1 62 Multi-wedge belt   1 

7 
Adjustment assembly on the 

seat cushion 
 1 63 Belt roller   1 

8 Magnet frame   1 64 Tube plug  4 

9 
Brake adjustment plate 

 
 1 65 

seat cushion sliding 

spacer sleeve 
 1 

10 Brake frame   1 66 
Crank shaft decoration 

cover 
 2 

11 Cable gasket  1 67 USB hole plug 18*10*5 1 

12 Chain cover fastening plate  1  68 Crank cap cap  2 

13 Flywheel limit plate  1  69 Bolt M8*40 2 

14 Flywheel   1 70 Bolt M8*50 5 

15 Crank axis group   1 71 Lock nut M8 5 

16 Flywheel axis   1 72 Flat washer Class C 8 8 

17 Brake shaft  1 73 Flat washer 8 2 

18 Idler shaft  1 74 Bolt M6*15 4 

19 Pull wire cable   1 75 Flat washer Class C 6 4 

20 Brake cable   1 76 Standard spring washer 6 4 

21 Tightening nut  1 77 Standard spring washer 8 8 

22 Elastic pull pin   2 78 Hexagon head bolt M8*16 4 

23 Flywheel inner spacer sleeve  2 79  Screw  ST4.2*9.5 2 

24 Left crank leg   1 80  Screw  ST4.2*16 9 

25 Right crank leg   1 81  Screw  ST4.2*13 18 

26 Magnet   4 82  Screw  ST3.5*12 8 

27 Induction magnet    1 83 Hexagon nut M12*1.25 3 

28 Bearing 6004 2 84 Flange nut M12*1.25 4 

29 Bearing 6201 4 85 Class C hexagon nut M20*1.5 1 

30 Crank gap sleeve  2 86 Bolt M8*40 1 

31 Cable compression spring   2 87  Screw  ST2.9*9.5 8 

32 Brake group retractor spring  2 88 Bolt M5*25 1 

33 IPAD tension spring  2 89 Flat washer 5 1 

34 IP group spring  1 90 Bolt M8*45 1 

35 Left chain cover   1 91 Bolt M8*75 1 

36 Right chain cover   1 92 Lock nut M10 1 

37 Left brake cover  1 93 Bolt M6*15 2 



6

PARTS LIST

38 Right brake cover  1 94 Bolt M5*10 2 

39 Front tube rubber ring  1 95 Screw ST3.5*15 2 

40 Rear tube rubber ring   1 96 Smart knob   1 

41 Front decoration ring   2 97 Adapter  1 

42 Back decoration ring   2 98 Pull wire motor  1 

43 IP bracket  1 99 Main panel wire  1 

44 IP shelf cover  1 100 Main line bottom line  1 

45 IP base support  1 101 Power cable  1 

46 IP cushion  1 102 Induction rod assembly  1 

47 Draw-spring cover  2 103 Light with adapter board  1 

48 Smart knob top cover  1 104 Lamp band assembly  2 

49 Smart knob bottom cover  1 105 Light with panel wire  1 

50 
Seat adjusting bushing between 

tubes-1 
  2 106 

Light strip bottom line 
 1 

51 Brake handle   1 107  Sticker  1 

52 Brake end cap   2 108 Flywheel sticker   2 

53 Wool felt   2 109 5# inner hexagon spanner 5mm 1 

54 Plastic rod pin  2 110 Open end wrench S=13 15 19 1 

55 Horizontal plug in waist tube   2 111 Screw driver S=13 14 15 1 

56 Seat cushion    1     

 
 
 
 
 



7ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

ASSEMBLY INSTRUCTIONS

• Upon unpacking, arrange the components of the exercise spin bike frame assembly.

• Use the 5# inner hexagon spanner (109) to loosen the bolt. Remove the packaging from the 
bottom tube (b). (Note: Components a and b serve as protective packaging only. After 
disassembly, please dispose of them properly along with the packing materials.)

STEP 1



8

ASSEMBLY INSTRUCTIONS

• Using the 5# inner hexagon spanner (109) and bolt (70), along with the standard spring 
washer (77) and flat washer Class C (72), attach the front foot tube assembly (2) securely to the 
exercise spin bike frame assembly (1). Repeat the same process to install the rear foot tube 
assembly (3). 

STEP 2



9ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

ASSEMBLY INSTRUCTIONS

• Thread the adjustment assembly through the seat cushion (7) and seat cushion adjustment 
assembly (5), securing them with bolt (90), flat washer (73), and tightening nut (21) to fasten the 
bolt (90) in place. 

STEP 3



ASSEMBLY INSTRUCTIONS

• Connect the main panel wire (99) to the main line bottom line (100). Connect the light to the 
panel wire (105) and the light strip bottom line (106), then insert both wires into the tube.

• Secure the handlebar assembly (6) onto the handle adjustment assembly (4) using the 5# 
inner hexagon spanner (109) and bolt (74), along with the standard spring washer (76) and flat 
washer Class C (75). Tighten securely.

NOTE: Be careful not to squeeze or put pressure on the wires.

STEP 4



ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

ASSEMBLY INSTRUCTIONS

• Using the screwdriver (111), securely attach the Left pedal (57) to the Left crank leg (24) and 
ensure it is fully tightened. Install the Right pedal (58), marked 'R', in the same manner. Ensure 
both the Left and Right pedals are firmly attached to their respective crank legs.

NOTE: The pedals are labeled 'L' for Left and 'R' for Right. When assembling, make sure to 
distinguish between the Left and Right pedals. The Left pedal (57) is marked 'L' and should be 
installed with counterclockwise rotation, while the Right pedal (58) marked 'R' should be installed 
with clockwise rotation. Do not install them in reverse, as this may cause the crank to slip and 
render it unusable.

STEP 5



ASSEMBLY INSTRUCTIONS

• Insert the adapter (97) into the machine, and then connect the other end to the power            
outlet.

• Op�onal feature: Atmosphere light. The light features three colors: green, blue, and red. 
When the step frequency is below 50RPM, the green light illuminates; between 50 and 80RPM, 
the blue light illuminates; and above 80RPM, the red light illuminates.

STEP 6

12



ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL 13

ASSEMBLY COMPLETE

CONGRATULATIONS

Assembly of your Elite Solaris Spin Bike

Failure to visually check and test the assembly of your exercycle before use can cause 
damage to the spin bike, serious injury to users and bystanders and can also 

compromise the effec�veness of you exercise program.  



INSTRUCTIONS

DISPLAY FUNCTIONS: 

14

 Display Overview:
• Outer ring 24 effect lights
• Display heart rate in beats per minute (bpm) when 

available. 
• Display the resistance level, ranging from Level 1 to Level 

32. Display exercise data including "Speed," "Time," 
"Distance," and "Calories." 

• Show Bluetooth status (if Bluetooth is available).

 Carousel Display:
• Rotating display for each data, with each data displayed for 3 

seconds.
• Small window display indicating the level of resistance.
• Primary display for "Speed."
• Secondary displays for "Time," "Distance," and "Calories."
• Bluetooth indicator indicates the status of the Bluetooth 

connection (if available).
• All outer ring lights are illuminated by default during exercise.

 Lock Mode:

• Press the knob to switch display modes and lock the data 
you need.

• Primary display for "Speed," "Time," "Distance," and 
"Calories."

• Small window display indicating the level of resistance.
• All outer ring lights are illuminated by default during 

exercise.

 E01 Code:

• Purpose: To prevent assembly errors and damage to the entire 
electronic component set caused by extremely rare abnormal 
parts, an E01 detection mechanism for the cable motor has 
been added.

• How it works: The sensor is unable to properly recognize the 
motor's rotation state.

• Possible reasons:

1. Check if the motor wire rope is stuck and if the motor resets normally after power-on.
2. Verify if the wire is loose or if the wire plug is misaligned.
3. The motor's pulling force may be insufficient at the extreme position, resulting in failure to 

reset to 1st gear normally. To verify, immediately adjust to the middle gear after power-on 
to see if the error reoccurs.

4. Components of the shuffler may be damaged, contact Elite Fitness.
5. The cable motor may be damaged from the factory, contact Elite Fitness.



ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

CONSOLE USER INSTRUCTIONS

15

BUTTONS: 

 Awaken Device:

• When in sleep mode, the display is off.
• The knob will wake up if pressed or if any motion is 

detected.

 Press Knob:

• The knob display goes into sleep mode after 3 minutes of 
inactivity.

• Press the knob to wake up the device from sleep mode.
• Press the knob to start in wake-up mode.
• Press the knob to switch display modes during exercise.
• Press and hold the knob for 2 seconds to reset data and 

switch to wake-up mode.
• The knob makes a buzzing sound when pressed.

 Display Overview:

• Turn the knob clockwise to increase resistance.
• Turn the knob counterclockwise to decrease 

resistance.
• A buzzing sound accompanies knob rotation.

OPERATION FUNCTIONS: 

When the knob is powered on, the BUZZER 
will emit a long beep, and the knob display 
will light up, indicating the device has 
entered the READY state (as shown in Figure 
1).

After powering on, the resistance will 
automatically reset to the "1" gear.

Figure 1 Figure 2



INSTRUCTIONS

16

If there is no operation for 1 minute, the device will automatically reset, clearing the data.

If there is no operation for 3 minutes, the display will completely turn off, entering standby 
mode (as shown in Figure 2).

• In the READY state, press the 
knob or start pedaling to enter 
the exercise mode.

• If heart rate monitoring is 
supported, the small window will 
alternate between displaying 
"heart rate" and "LEVEL" every 3 
seconds (as shown in Figure 3 
and Figure 4).

• If heart rate monitoring is not 
supported, the small window will 
only display "LEVEL".

The main window numbers default to a rotating display with the "SCAN" icon illuminated, 
showing "Speed," "Time," "Distance," and "Calories" (as shown in Figure 5, Figure 6, Figure 7, and 
Figure 8), with the display switching every 3 seconds.

Figure 3 Figure 4

Figure 5 Figure 6 Figure 7 Figure 8

Pressing the knob allows you to adjust the display mode to lock mode. The "SCAN" icon will not 
be displayed, and the display will be fixed to show one of the following data: "Speed," "Time," 
"Distance," or "Calories" (as shown in Figure 9, Figure 10, Figure 11, and Figure 12).

Figure 9 Figure 10 Figure 11 Figure 12



ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

CONSOLE USER INSTRUCTIONS

17

NOTE: This machine is electrical equipment. Please ensure correct usage of power. When not in 
use, disconnect the power plug.

Heart Rate:

• Heart rate value: If supported, the real-time heart rate value will be displayed; 
otherwise, it will not be shown.

 Resistance Level:

• Ranges from 1 to 32.
• Higher levels correspond to greater 

resistance.

 Scan:

• Indicates carousel mode for data display.
• If not displayed: indicates lock mode for data display.

 Speed:

• Speed range: 0.0 to 999.9 km/h.
• Corresponding to 60 RPM to 21.5 kilometers/hour.

Time:

• Time range: 0:00 to 99:59.
• In wake-up mode, timing begins with a brief press of the knob or detection 

of movement, and timing stops 4 seconds after movement ceases.

 Distance:

• Distance range: 0.0 to 999.9 kilometers.

 Calories:
• Calorie range: 0.0 to 999.9 kcal.
• Resistance 1 corresponds to approximately 11.4 kcal per kilometer, while resistance 

32 corresponds to approximately 44.6 kcal per kilometer.

 Bluetooth:

• Display: Bluetooth connected.
• Not displayed: Bluetooth not connected.



 EXPLODED DIAGRAM

18



ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

Saddle Height Adjustment

Adjusting the Seat Fore-and-Aft Position

Saddle Height Adjustment Adjusting the Seat Fore-and-Aft Position

SETTING YOUR SPIN BIKE UP

19



Please note: The spin bikes shown in the ‘setting up your spin bike’ section are for demonstration purposes only and your 
spin bike my vary in aesthetics and features.

Handle Bar Adjustment

SETTING YOUR SPIN BIKE UP

20



ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

Friction Brake Pad System

MAY CAUSE DAMAGE TO THE SHAFT THREAD.

Magnetic Braking System

Chain Driven 

Belt Driven

CARE AND MAINTENANCE 

21



eg:

MAINTENANCE LOG

DATE HOURS DISTANCE

MECHANICAL 
MAINTENANCE FRAME

SERVICE 
COMMENTS

Brake Chain / 
Belt Cleaned Seat / 

Pedals

01/06 15 16.5km none

22



ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

Warranty Range

Warranty Time
HOME USE

The following conditions are not under warranty range:

The Spin bike should not be:

Repair and Maintenance Service

LIMITED WARRANTY

23



WARM-UP EXERCISE

24



ELITE SOLARIS SPIN BIKE ASSEMBLY MANUAL

TRAINING STAGES

25



@EliteFitnessNZ @EliteFitnessTV




